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- wug - 3/ SECTION - A

a’{ﬂﬁﬁ wyq / Objective Type

nly oné is correct.

out of which ©
on the

lected option

s. 1tol 00 have four options,
. 50x 1= 50

Question No
y 50 questions. You have to mark Yyour se

Answer an

(A)

() x+2& S~ (D) —é—x3—3x2+2
" Which of the followihgr is not a'poiynornial ?

(A) J3x2-5J2x+3 (B) 3x2f4x+J§ |
() x+2Jx (D) -éx3 C3x? 42

2.  Wgdq (3x2_—7x+2)(2x4 4 353 —5x+2) B IE 2

a2 ® 6

(C)/ 4 (D) A3

The degree of the polynomial (3x%-7x +2 )(2x4 +3x3 -5x+2) is
(a) 2 B) 6

D) 3

Cc) 4
- H/S—24(M)/72041—(74/80) Page 3 of 48
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(210]

TR x? ~13 ¥ YT §

(A) 13,-13 (B) 13,-413
€ V13, V13 (D) V13,-13
The zeroes of the polynomial x2-13 are

(a)  13,-13 (B) 13,-413
@S s, -V13 (D) Vi3, -13

m%ﬁmuﬁ%%q—aagqa:{ib—rx—(zmw)aﬂqmwé?

@ 7 b ® 8
e o D 5

For what value of m, - 4 is one of the zeroes of the polynomial
P -x=(2m+2) ? »

@ 7 B) 8

o o 5

3z Tgwe Plx)=ax®-3(a-1)x-1 T % 12 @ a1 1 ghy
@ 3 B 1

(@ o D) 2
I 115 one 210 of the polyriomiay p(x)=ax?~3(a-1)x_,
value of a is . =1 then

= @ 1

© 0 D) 2

H/S-
/ 24(MJ/72041.(74,.,°, Pag
of 48

L ALE

Faffea ﬁmﬁma@a%wgw—%%?'

(A) 10x%+x+3 (B)k 10x2+x-3
] < 2 ‘ 2
AV (C) 10x"-x+3 (D) 10x“-x-3
s i .

LG SWhich of the following quadratic polynomials has zeroes
3 15
5 and 5
(A) 10x%+x+3 (B) 10x?+x-3
(© 10x2-x+3 (OF  10x2-x-3

A T p(x)=x*-3x—-4 F Y=F o W B & A %(u+[3) H1 A

G B) 3
© -3 : o 1
If o and B are the zeroes of the polynomial p(x)=x>-3x-4 then

the value of %(aﬁ-B] is

(& 4 , B 3
€ -3 D) 1

AR TZIG p(x) F Th IIF 5@ @ p(x) F1 T TrEE @y
(/:.l x-5 B) x+5

e xis D) xiS

H/S-24(M)/7204 1-(74/80)
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10.

(210]

: x) is
If one zero of the polynomial p(x) is 5 then one factor of p(x)

©j . x-5 (B) x+5
1 1
@ == @ s

af p(x)=x4+2xj3—17x2—4x+30 R g(x)=x2+2x-15 ¥ W

e < R A e w1 wm g

@ 4 @ 2

© 3 D 1

If p(x)=x4+2é3—17x2—4x+3o is divided by

g(x)=x*>+2x-15 , then the degree of the quotient is

A 4 B) 2

©c 3 D) 1

Ife 5g98 x* +5x+8 % IAF « W p A A a? +82 +20p 1 HH B
L

@A) 25 B) 5 4

© 8 (D) 64

If « and B aJ;c the zeroes of the polynomial x2+5x+8 then the

value of a? +p%+20ap is ‘

@y 25 ® s

Q- 8 (D) 64

H/S-24(M)/72041-(74/80)
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12.

13.

(210]
R
AN AT :
A x=2,y=1 B x=1,y-2
€ x=-1l,y=-2 (D) x=3,y=1

If3x+4y=10 and 2x - 2y =2 then
w, x=2,y=1 B x=1y=2

€ x=-1,y=-=2 (D) x=3,y=1

e Tt gm %x+%y=7 T 9x- 10y = 14 &

(0 sttt : (B)

© o (D) T @ T
The pair of linear equations %x+%y=7 and 9x- 10y = 14 is

Ay consistent (B) inconsistent

(C) dependent - (D)  none of these

'Frtﬁa;{ng+3y+15=0®3x.—2y—12=0%§@1@1@ﬁ?{{mﬁ

e g 2
(A) o v g B wwie et Yt
©f  wrdd T e O) ¥} 9

H/S'24(M)/72041-(74/80)
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14,

15.

(210]
_y-12=0
The graphs of the equations 2x + 3y + 15 = 0 and 3x - 2y

are which type of straight lines ?
(A)  Coincident straight lines
(B)  Parallel straight lines

[C” Intersecting straight lines
(D)  None of these

Tt ey 2x~3y =50 4x-6y=7 % g &

(A) T 3R H9d w v B = g T

R w T

The system of linear equations 2x— 3y=5and 4x- 6y =7 has

(O mfFa &= (D)

(A)  one and only on€ solution
B} no solution

(C)  infinitely many solutions
(D)  none of these

aﬁw‘r@ri4x+py=16m2x+9y=15m%‘iﬁpaﬂmm
gm '

(a)

[

B 3

), 18 D) -3

H/S—24(M)/72041—(74/30)
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T el

[210]
llel then
If straight lines 4x + py = 16 and 2x + 9y = 15 are para

what is the value of p ?

L B 3
@ 3
©- 18 o) -3
Frerifd # i waiR 3D T R 2
-5 -2 -1
(A 5, 4%, 4, 3%, B) -1, %' 3’ 3’
(C) 8, 14,20, 26, 4 (D) 4,10, 15, 20, ...

Which of the followingiSnot an A.P. ?

1 1 Al TS =2 =1
W S43.485. @ -1,78 22 21

(©) 8, 14,20, 26, ... (D) 4,10, 15. 20, ...
AR (2x-1), 7, Sx TR I A ¥ A 1 7 By

m 3 (B) .4

@ 1 D) s

If (2x-1), 7, 3x are in A.P,, then what is the value of x ?

(AL 3 ‘B) 4
© 1 . D s
afy 4, AR 5, 12, 19, . H nat wg'd @ a;o_ass .
N S 395 aéxen
Ay 20 B) 35 e
(© 30 (D) ss

Page 95133



19.

20.

difference of A.P. is
(A) 6 (B) 14

© 8 D) 4

[H/8-24(M)/72041-(74/80)]

Page 10 of 48

[210) | . (210]
If s nth term of the A.P. 5, 12, 19, ... then what is th¢ etue of ? frgal A(-2,8) T B(—6,—4)?ﬁwmﬂiiﬁ??§ﬁ L
G0~ %as ¥ | A (-6-4) v B (-%2) ) ﬂ;fét;zg
@) 20 ®) 35 Q (26) D) (-4,-6) 7z )Ll,:i-é)
© 30 s ; ] The mid-point of the line segment joining the points A (=2, 8) and
afe wwie 5 F 7 9 e 4 R & FEH A AR - 4 ] W gwen 0GR B(-6,-4)is ‘
B 2 V ‘ @) (-6,-4) ‘ (B) (44,2)
@A) 16 (B)‘ 20 ; © (2,6) ] @) . (-4-6)
Q 24 : TReT it <aygo. aﬁ;ﬁ@(1,2),(0,0)'@(61,’17)%&@'5*,;13
If the 7th term of an A.P. is ind its common difference is — 4, ~ @A) a=h e :ff/ (B): “ra =25 .
then what is its first term ? % 2a=b b= 7 D) a+b=0
@) 16 (B) 20 ‘ . If the points (1,2, (0, 0).and ( @, b) are collinear then
© 24 (D)_28 : ! AT = > B) a=2b ’
afe TR I F FuH n TG H AT (4n”+2n) R @ TR IDA w1 4 ‘ @] ‘2q=b. : _‘ o a+b=0
FHR g 23. %_@ﬁﬁgaABc%aa‘rsﬁéA(z,s)amB(1,—3)%@%(3,0)%
@4 6 B) 14 ] ?ﬁ?ﬁaisﬁécmﬁmqa:% e %'
c 8 D) 4 (A) - (52) B (1,3)
If the sum of first n terms of an A.P. is (4n%+2n) then the common el (6,0) , D) (2,-3)

Two vertices of a tﬁanglc ABC are A (2,3)and B (1,-3 ) and.'

centroid is ( 3, 0 ) then the co-ardinates of third vertex C are

@A) (5,2) " (B)

{©j (6,0) ) (D)

(1,3)

(2,-3)

| H/S‘24(M)/72041—(74/ao)
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[210]
24. AABC 3 AD, ZBAC ¥1 ¥$% 31 AR AB = 4 ¥, AC = 6 T

BD =2 9l g §t_DC % TF 7
i 33 (B) 63t
© 73Hh D) 43

In AABC, AD is bisector of /BAC. If AB = 4 cm, AC = 6 cm and 2
BD = 2 cm then the value of DCis

A 3 cm (B) - 6cm
© 7em D) 4cm
:
25. o9 ABCH DE || Bcomwwm 2 fs AD__4  qop AE__ 8 "
Il BC s % o5 x4agﬂ EC 3x- 0|
xS HE § L - T
4 Tga-19
@ 9 B A0 » -y ~ R
e 1 D) 12 DLy B
- . o b
- AD _ AE
I AD _ _ 8-
n triangle ABC, DE || BC sucb that DB _4 and 4= Voo T :

then the value of xis
@A) 9 (B) 10
o)y 11 D) 12
26. 46 AABCH AB= 134, pc= 12 @t aem AC = 5 A @) ZCH H R
Y 90° B) 30°
© 600 o e

H/S"z“(M)/72041-(74/&;0; P/
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27.

28.

[210]

Ifin AABC, AB = 13 cm, BC = 12 cm and AC = 5 cm then the value

of £Cis
Ay 90° @) 30°
© 60° (D) 45°

af 2wy Pt 3 el 1 97 0 : 4 A T 3 vt 1 ST
v

(A) 27:8 ' (B) 3:2

C 9:4 ' (D) 4:9

If the ratio of areas of two equilateral triangles is 9 4 then the

ratio of their perxmeters is

@) 27:8 “IB) 3:2
© 9:4 (D) 4:9
' AB _BC_AC _ \BC.
afe AABC qu1 ADEF ﬁ,ﬁ_ F-DET ‘3“1 A AABC W™ ADEF %
&R 1 3T g
i 57 B B) 25:49
C) 49:25 (D) 125343

. - AB _BC _AC _
I L5
f in AABC and ADEF, DE “BF - DF= 7 » then the ratio of the

areas of AABC and ADEF is
By 5.7 - R (B) 25:49

(C) 49:925 (D) 125:343

H/S-24(M)/7204 1-(74/80)
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30.

31.

(210
AABC@APQRW%EG%!T@ADSWPSW‘ZA@ZP%W
: . &% ( AABC)
%WAD=6~5M@PS=5-2M?hWR‘)-

A)  49:16 ®Y 25:16
(©) 36:49 (D) 81:64

AABC and APQR arg¢/Sitnilar triangles. If AD and PS are bisectors of
ZA and Z£P respedtivily /and AD = 65 cm, PS = 52 cm then’

area (AABC) _

arca (APQR)

(A) 49:16 B 25:16

(C) 36:49 . (D) 81:64 ‘

& e e 6 T 4o o ? @ 3t S E :

A) - av3 ' (B) %JE
(© 2aJ3 D -Z
v © &

If one side of an equilateral triangle is a then its height'is
B a3 B V3

C) 2aJ3 p Z

© (D) i
2-13113111311113 ... 2

(A) Uit "@en (B) wufwa wem

=
(©) quis FEm (D) T E HE A

H/S-24(M)/72041-(74/80)
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32.

33.

34,

[210]

1313111311113 .. is .

(A) a rational number, (B~ an irrational number
(c) - an integer (D) none of these’

@WW@@WWWWWH@TM%°

(a) o EE (Bl e we
© WG@H D) T A PR T

The product of a rational number and an irrational number is
which type of number ?

(A) A rational number (B)  Anirrational number

(C)- A natural number (D) None of these

0.57 &1 Gclan &9 2

v 19 S57.

(B) 33 3 (B) =5

57 ‘ 19
f,c_) 100 B 33
The simplest form of O .57 is

19 57
wly == . i
5. 33 B) 55

57 ' 19
© 100 )
Ife 140 = 28 x 5Y x7% A& x+y-z=
A) 2 B) 4
© 3 ©) 1

e} }I/S-Q4(M)/7204 11(74/50)'
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E e [2101 m ' [210]

o . f the
F. of two numbers is 15 and L.C.M., is 105. If one o
If 140 =2*x5Y x 7% then x+y-2z= The H.C

aumbers is 5 then the other number is

A 2 - (B 4 . .
B) 15
© 3 D) 1 (A) 75 (B)
35. (6+125)—(3+4/5)+(1-445)2 © 315 . (D) 525
(- TR g (B) st HEm | 38 af W R @ = b+ r b= 43, q= 317U r= 328 A a H HAH
: , i s o ol
©) st T (O) A FE T ey
12331365
(6+4125)—(3+v5)+(1-4V5) is - A 1365 (B) 1356
(%) » a rational number (B) an irrational number ‘ © () 1360 (D) 1350
(C) notreal ’ (D)  none of these f If in division algorithm a =bgq+r, b= 43, g = 31 and r = 32, then
36. 0375% Ewdgmwny the value of a will e~ !
q . At
‘ Ay 1365 (B) 1356
(A)  23x5° (B) 23x52 : \ .
(© 1360 . " (D) 1350
¢y 2°xs5° - (D) 2%xs° o ) ’

| SN
| \ .
, | 239 IR g T e gt R @ Frflaa § @ W e a@w qutes 2 o
p . | '
InE form of 0-375, the form of g is b
\
!

| | ® 241 B 2
(A) 23xs° B) 2%x52 | ‘ :
) (C) 2g+3 - ) (D) 29 +5
(@ 23xs° (D) 22x5%
- } ] If g is‘a positive integer, which i i
37. 2 emsi 5o o 15 7 wowo 105 31 AR, T T e s 3 ’ 9 p integer, which of the fol.lowmg is an even positive
. ) '] integer ?
e 2 {
w75 B®) 15 fhas s T2
- a1s (D) 525 € 2q+3 | . B 2945
H/S-24(M)/72041-(74/80) Page 16 o748 H/S-24(M)/7204 174780 P
. : age 17 of 48
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41.

42.

Frferfea  frae cowem yaw g 2 2
(A) % (B)
@) 343

5 3 = D
2 %5373 (D)

(210]

91

2100

15
25x3?2

Which of the following has terminating decimal expansion ?

11 '
(a) =00 (B)
o 343
£ 23x53x73 (D)
sin 6 x cot 6 ST Sehd T B ?
(A) tan® (B)
(el seco (D)

91
2100

15
25 x32

cos 6

cosec 0

What is the reciprocal of sin 0 x cot 6 ?

(A) tan® (B)

€y seco (D).

cos 0

cosec 0

cot 12°. cot 38°. cot 52° . cot 60° . cot 78° =

(A 1 ' \B)
9 7 o)

J3

3

[H/S-24(M)/72041-(74/80)]
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43.

14,

45.

46.

[210]

90°-0).cos (90°-0) =
cosc%(z,a" —

(A) sec 0 (B) tan'0

() sin0 .(D) cotO

afe sin0=+2cos0 dl sec 0 % A &

() % B V3
. ‘ A
© g (D) e

If sin0=v2 cos 0 then the value of sec 0 is

@) % ® V3
© 3 E o 7
3tan2_60°—

A) 3 a7 1
i) " 1
© 9 . D3

A 4, B, ¢ et Bryst ABC ¥ B 3« COSCC(A;B)EHW%

A) tan £ (5] <
5 . {8 sec 3

(o c ' :

<) cot = ] D si c
5 (D) in 5

H/S-24(M)/72041 ~(74/80)
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47.

48.

(210]

: ¢ value of
If A, B, C are angles of a triangle ABC, then th

cosec ( A+B) is
2

" @n S ® secS

© cot % D) sin %

% P 97 1 B kg ) o g g 5 Al 6
zrm

@ 1:k B) 2:k%

©f 1:k? ‘ (O) k%1

If the radius of a circle becomes k times then the ratio of the areas
.of previous and new circles is.

A 1:k B) 2:k°

©v 1:k? D) k%1

Je Forean aTet 3129w 1 et R A6
(A) =k - (B) (r+1)k
(C) =n+2k (D)  (m+2)k

What is the total perimeter of a semicircle whose radiys isk?

) nk (B) (n+1)k

© =n+2k (D) (n+2)k

[H/S-24(M)/7204 1-(74/80)|
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49.

50.

S1.

’

o 1 42 Bt oI % wfen g A gt R
132 Tft
T A H T

The distance ccvered“by a wheel of diameter 42 cm in 2 revolutions

(210]

Ay 264 & (B)
) 84w (D)

is
(A) .~ 264 cm (B) 132 cm
(C) 84cm ' (D)  none of these

o g e B 8 3ft @ sl witfu w4, B, cqﬁDwﬁﬁﬁﬁﬁ?

ABCD W& a1 ® 1l st ABCD =1 &a%a &
@A) 6432 "~ (B) 10032
€ 1252 (D) 128 &2

A, B, C and D are four points on the circumference of a circle of

radius 8 cm such that ABCD is a square. Then the area of square
ABCD is

(A). 64 cm? » (B) 100 cm?
© 125cm? (D) 128 cm? o

Freht 9 % 3 R 8 3 <t Sften 1 = g0 34 R A gw H freyy

@) adf . (B) 5&dt

8 It

H/S-24(M)/72041 -(74/80)

© 1o¥h - (D)
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52.

~ (A} 90° (B)

(2101

rd
centre of @ circle to 2 chord of

ndicular distance from the

The perpe '
length 8 cm is 3 cm. Then-the radius of the circle is

(A) 4cm () Scm

() 10cm (D) 8cm
Hﬁa@mzwﬁméﬁmﬁgm&@ﬁﬁﬁ@l@‘ﬁ_

Al 1 ;\>(> . B) 2

© 3 (D) 4

If two circles touch each other internally then the number of
common tangents is »

& 1 (B) 2
© 3 o) 4
o P 3 7 < 1 e g ) B 5 R A A I
== T 5 A ' |

(A 90° (B) 60°

© 30° . (D) 120°

If the length of any chord of a circle is equal to the radius of the

circle then thZ 7 hgle subtended=hy-the.chord at the centre is
602"

()= 507 (D) 120°

(H/S-24(M)/7204 1-(74/80)
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54.

55.

56.

: [210]
TpamTQﬁ?sﬁmﬁgTﬁ@qamm%ﬁa 0% w dih ™A

et 36 TR & f6 £POQ = 120° @/ ZOTP &1 AF B

(Bl 30°

(A) " 40°
© 50° ‘ (D)

60°
TP and TQ are two tangents drawn from an external point T to a

circle whose centre is O such that /POQ = 120°. Then the value of

. LOTPis
@) 40° - IB)__36°
© s50° (D) ~ 60°

AR tan2A=cot(A -18°) W&l 2A =T HIT B 1 AT OH B

w72 (B) _ 36°
B)
(© 60° . (D) 45°

If tan2A=cot(A-18°) where 2A is an acute angle, then the value

of Ais

@ 72 B o
© 60° . - By45e
afg sine=i2_§; 0<90°q tan?6-1 -

A - 1 : { B o
© 2 D) -1

H/S-24(M)/7204 1-(z4/30,
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57.

58.

59.

(210]

If sine=§, 0 < 90° then tan?6-1=
(A 1 ® 0
@ 2 ‘0) -1
9cosec? 22°—9cot222°+1 =

(Aa) 9 B) 10
©)

1
5 D) ©

I sinb=2 W cos OFTA R
h

. 2
b b” -a;
(A) ? (B) T
-a ——
a b
(€ T(f (D) o
If sinG:% then the value of cos 0 is
2
W =L (T L
b -a
a b
(@] T—f' (D) m
b LN
_132 =
afe sec6—12§lcot6 5
S S
W 3 B 13
12 13
cf. 12 13
9, 3 =

H/S-24(M)/72041-(74/80)|
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60.

61.

62.

If secO=E then cot 0 =

[210]

(A) % (B) %

(©) 153 (D) %
(secO+tan® ) (1-sin0) =

(A) sin6 B) cos® N
(C) secH (D)  cosec®
5% U9 §1q gw:vﬁ T qTE B

(A) 25 (B) 20

(C) 30 Q‘L 35
The mean of first seven multiples of 5 is

(a) 25 (B 20

(€ 30 (D) 35

20, 13,18, 25, 6, 15, 21, 9, 16, 8, 22 3 arfeyey 2
(a) 18 By ~16

€ 6. . (D) 15

The median of 20, 13, 18, 25, 6, 15, 21,9, 16, 8, 22 is

A) 18 B) 16

€ 6 : (D) 15

H/S-24(M)/7204 1-(74/80) ]
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63.

64.

65.

(A
& 4

[210]
- g ¢
23, 15, 25, 40, 27, 25, 22, 22 207
@A) 23 RS
© 22 @ 15

0028, 20 is
2926

The mode of 23, 15, 25, 40, 27, 22+

(a) 23 (B) 25

© (D) 15

22 )
@méﬁﬁmﬁﬁ%ﬁﬂ@%@%amww

@a) 43 B~ 436

© 42 ©) A BE T

The median of a frequency distribution is 40 and mean is 382,

Then its mode is

(A) 43 B) 436

(cy -42 (D)  noneof these

e x, x+ 3, x+ 5, x+ 7T x+ 10 H WA 9B A x H 71 g
® 6
© 5 Dy 7

If the mean of x, x+ 3, x+ 5, x+ 7 and x+ 10 is 9 then the value of

xis
Ay 4 (B) 6
© s o) 7

[H/S-24(M)/72041-(74/50) Page 26 of 48

66.

© 67.

“£68.

(A

S A

(&)

[210]
iftrare W1 IAH T BT @
By O (B) 1‘

The minimum value of a probability is
0 ®) 1
© 2 - none of these

afe Rt T A % Ted I MR 0-35 3 A A b TE " hi SRl
arft ' :

D)

0-53 B) 65

Y 065 (D) 35

If the probability of occurrence of an event A is 0-35 then the

probability of non-occurrence of A is

053 B) 65

(C)b 065 (D) 35

- fwt 1 3o i v gt B gen

@B 3

<) 8

B 4
D) 6
In tossing of three coins the number of pogsible outcomes is
(A)__2- B) .4 .

© =8 ® 6

H/S-24(M)/ 7204 1-ras0)]
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70.

71.

() 80% (D)
o

obability of an
Which of the following numbers cannot be the _p}‘,Oba ty

event ?

(A) 05 B 19
3

© 80% o

@mﬁ@ﬁﬁsmsammmmﬁm%

(B)

Ul

A)

o\~

D)

=
€l

[ [9)]
[N

In a throw of one die the probability of occurrence of a number 5 or

less than S is

(A) B)

o\~
|~

.
<) -

O 5

ol

et T % E o Geshl 1 &Ahd HAY a, b, o8 T E . anraae

B

(A) abc (B) 2abc

(C) abc (D) 3Jabe
ot )
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72.

73.

(€ 2128®°

[210]

If the areas of three adjacent faces of a cuboid are a, b, c

respectively, then the volume of the cuboid is

() abc .(B) 2 abc
(C) abc (D)  3vabc

e o 1 Gt deet 216 32 T gl I 2

@A) 144 M3 B 19683

D) 216 iy 3

The total surface a_'ljea of a cube is 216 cm? then its volume is
(A) 144 cm?® ‘(B) 196 cm®
©) - 212 cih?

A il & smae B AN 1 64 2 A 3% R 98 el 1 ST

®] 216 cm?

g
@A) 1:4 \ ‘B) - 1:16
© 1:18 ‘ : () 1:8

The ratio of volumes of two cubes is 1 : 64. The ratio of their total

surface area is

@ 14 B 1:16

(C) 1:18 ) (D) 1:8

| H/S-24(M)/7204 1~(74ﬁ

Page 29 of 48



76.

- H/S5-24(M)/72041-(74/80)

[210)

aaﬁmmmw%@@mmml:zéa\

7Y fysanatt i STEE qm
@ 1:42 B 2:1
© 1:2 D) 1:4

Two circular cylinders of equal volume have their heights in the

ratio 1 : 2. The ratio of their radii is
A 1:42 my J2:1

© 1:2 D 1:4

T S T THIEE S 1760 A2 TH TEH MU B AW 28 WA 2 |

?ﬁgﬂiﬁﬁﬁ@’ﬁ
(A) 10%H () 153
(@), 203 ' (D) 40%h

If the curved surface area of a cylinder is 1760 cm2_ and ité base

diameter is 28 cm then its height is
(A) 10cm (B) ° 15cm
(¢} 20cm (D) 40cm -

4% 5 0 3 s R AW 98 42408 = 0 W1 919 AB A awrrd ey

2nR9 21R9

(A T80 T
2

nR?0 D) nR%

© T80 O Zeo

Page 30 of 48

77.

78.

. [210]
Il'Ois the centre and R is the radius of a circle and ZAOB = 0 then
the length of arc AB is

. 2nRO 27RO
W g0 B 360
TR0 R0
© s B 360

aﬁﬁﬁ@ﬁ@ﬁﬁﬁm%ﬂélﬁWaﬂWﬁﬁWr@a}@wé@qﬁ
&% B

(A) nrl +r (B) nrl +nr?

©° nrl+r? (D) - wrl +2r?

If lis slant height of a cone and ris the radius of its base then total

surface area of cone is

(A) nrl +r =] nrl +nr?

©  mrl 472 D) nrl +2r2

ﬁfﬁ?ﬁ%mﬁ?ﬂﬂgﬁl%:m?aﬁsﬁmmmm
g i
A) 9:25
© s:3 (D) 3:5 .

The ratio of volumes of two spheres is 125 : 27 then the ratio of its

surface areas is
(A) 9:25 B 25:9
() 5:3 : (D) 3:5

H/S-24(M)/72041-(74/80)
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[210]

B ﬁm%@%mﬁmm B (210 ]
75, g s frem % T e W 32 ‘ : It ply) = (y+1) (y*+2) (y*+6) and g(y) =y”-3y+1 then the
%Ii@ﬁ?mﬁﬁwg . degre?o ply) i
o3l v g(y)
(A~ 8o -(B) :
v (A 6 B) 3
© 10 o) 2@ o i s v )
_ R : : (D) 4
A sphere of radius 8 cn‘1 is mevlted to form a cone of height 32 cm. sz, - 25
The radius of base of the cone 18 ) - < ’
(%) 8 cm B 9cm ' ' (A) (x+1) (x-1) =x*-4x> |(B) (x+4)P=3x+4
) 10 D) 12 '
@ 10em © o © ,4x+§1;=8x2 (D) (2x2+4)=(5+x)(2x-3)
80. HﬁrhﬁmqsﬁaéaﬁemﬁtﬁQﬁﬁhrhéﬁm@m ‘ e 2 .
: : ) . Which of the following is a quadratic equation ?
(a) 7 ' @ 14%h : »
i : . CA) (x+1) (x-1) =xP-4x® Bl (x+42=3x+4
() 28%H (D) s6&H : o ‘
‘ © 4x+=8x" (D) (2x%+4) = (5+x) (2x-3)

If the 'surfacc area of a sphere is 616 cm? then the diameter of

83. afe fyama @l x° —5x+p=10 ésrg«ﬁaﬂgm-ggﬁﬁp F1 T

sphere is
(o) 7cm (B) 14 cm B
() 28cm. (D). - 56 cm @ 4 . B) S
g1 R py)=(y+1) (¥°+2) (¥*+6) W gly) =y’ -3y+1 /@ pzy; &1 ars : oL, 18
aly
. : If product of the roots of the quadratic equation x> -Sx+p=10 i
2 . = is
[ — 4, then the value of p is
(% 6 (B) 3 A 4 (
’ : ‘ B) 5
© 5 (D) 4 & 6 ' D) 8
{ 4
[H/5-24(M)/72041-174/50) ' -
Page 32 of 48
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85.

86.

?T%(X—Q.),pr—x—6 m@wﬁ?ﬁptﬂwm

PO
w/, 2 'rsz B) 3
@ 1 (o) 4

If (x-2) is a factor of px?-x-6 then the value of pis
) ® 3

© 1 ' (D) 4

[210}

k% fovm 77 % foe fgam w2 +6x+ k= oéaq\aamﬁmﬁaw

s ?
@ 12 B 9
()] 10 (D) 6

For what value of k, roots of the quadratic equation x2+6x+k=0

are real and equal ?

Ay 12 ® 9

(© 10 ' D) 6
mm%x2—2x+%=o%@ﬁWWM?
(A) arfes: T @A (‘%‘ . @W
() e T (D) ¥ &

[H/8-24(M)/72041-7a/80)
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87.

88.

[210]
What is the nature of the roots of the quadratic equation

4 2 3
- 2 =07
3x 2x+4 0

(A) Real and unequal (B)’ ‘Real and equal

(C) - Notreal (D)  None of these

aﬁﬁmmq +3y-18= 0 %1 T e — 6%@3&@@7{1%@“

NE e

{8y 3 9= 3)(%6)(13) -3

© 6 @ 5

If one root of the quadratic equation y? +3y-18=0 is - 6 then its
another root is ‘

) 3 ‘ B -3

@ & - . D s

e fyam afien x2 -8x+5 =0 ﬁ%t@ a T BE Al o 4 p2 1AM B
A) 44 (B) 54

© 74 » (D). 64

If o and P are the roots of the quadratic equation x2 —8x+5 =0
then the value of o +B is -

W o ® s

(ci w . D) e

H/S-24(M)/72041-(74/30)
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89.

90.

91.

NS

[210}

fgama wfe axz—bx—c=o,a¢0%‘i§*%
2 +4ac
_bxyb? -4ac ®) BLIE—:‘

(‘é)/ 2a 20t
— 2
© —bi\b2+4ac b_t_‘ﬁ’:—rﬁ
T v— 2a
2a .

: : PRI O :
The roots of the quadratic equation ax” = bx-c=0, a#0-are

_p+Vb? —4ac - “pxvb? +4ac
@ — B ——oa
k 2a a
© ="= b+Vb? +4ac o) bxvb” —4ac Vb® —4ac
2a 2a E

fe x = 2 TFI FHEW 2x7+2x+ p=0 T @t +qr+18=0 F ThH

Tt 6 2 (g - p) F1 A W
(A)_——4 ' B -3
© 9 D) 4
If x = 2 is a common root of both the equations. 2x%+2x+ p=0 and
gx* +gx+18=0 then the value of (g - p) is
() -4 ® -3
© o D) 4
auiaT 3 20, 17, 14, 11, ... F 35 af vg 71 @m 2
| o4 abrd B - 82

RS e
. oL (D) -72

[F75-24(M)/ 7204 1-(74/80)

() 82

© 72
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92.

93. .

94.

[210]
What is the 35th term of the A.P. 20, 17, 14, 11, ... ?

() 82 ' (B) -82
© 72 (D) -72

TR A 3,8, 13,18, ..., 93 H fpat e & ?

By 19 q@E3* T
C) 20 ‘/q;gl % (D) 16

- How many terms ére inA.P. 3, 8, 13, 18, ..., 93 ?
@Ay 19 . @B 18

© 20 . (D) 16

A A 1,3, 5,7, .. % Yo 30 W 1 Ameer A
(&) 900 B 990
(C) 890 (D) 800
The sum of first 30 terms of the A.P. 1, 3, 5, 7, ... is
(A). 900 (B) 990

© 890 . (D) 800

. g (-2v2,-2) Frm agufa A R 2

BRGNS B fe
() (D) =g
The point (—2\/5,—2] lies in which quadrant ?
(A) First (B) - Second
(cj - Third ’ (D) Fourth
5 W/S—24(M)/7204 1@
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95.

96.

97.

[210]
ﬁ@aﬁ(sscos,e,o)ﬂ’q;(0,SSi“")%ﬁf’ﬁaﬁzﬁig
@ 10 ® 3
© 30 o 25 .
The distance between the points (5 €05 0,0)a“d(o'ssino)‘s
(a) 10 B) S i
© 30 D) 25
aﬁfwﬁmsé‘x—mwaﬁﬂ%mﬁm@ 0Ty W I ™
s A w5 9 9 firg B B A
® (510 ® (10,5)
© (10,10) ©) (5,5)

If from a point B the length of perpendicular drawn to x-axis is
10 and the.length of perpendicular drawn to y-axis is 5 then the
co-ordinates of the point B are

(A)

(5,10) ‘(B)

D)

(10,5)

© (10,10) (5,5)

fargati (1,-3) W (4,-6)F R

@ 243 2343 B2 32

© o e o e

The distance between the points (1, - 3) and (4.-6 ). i
w208 (B 3J2

AR D) 6

. 99.

L

100.

(210]
y-aamasﬁaﬁﬁﬁi(s,-z)aﬂt(—3,,2)@8“?8‘2‘%’a’ﬂ

(A) (0,3) (B) (-2,6)

€ (0,-2) - (2,2)

The point on y-axis which is equidistant from the points (5, = 2 )

and (-3,2)is

@) (0,3) B (=

D) (2,2)

2,0)
cy (0,=2)

ABCD@W%WQNA(O,O),B(&O),C(8,6)qa‘ D(0,6)

2 q R w1 T ol g
(a) 12 B) 10
(c 14 (D) 16

ABCD is a rectangle whose vertices are A(0,0), B(8,0), C(8,6)
* and D (0, 6 ). Then one of the diagonals of rectangle is

@A) 12 B) 10

© 14 ¢ o
a2 (0, 4),(0,0) T (3, O)Mﬁga%sﬁm%ﬁwmg}am%

L affuf 2

16

& 8. ® 10

) 12 (D)

15
(U, 4), (0, 0)and ( 3, O)arethcvertlcesofaman 1
perimeter of the triangle is gle then the

(A 8 (B) 10

€ 12 (D) 15

TH/S-24M)/72041-73730]]
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